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Directions : There are in all 21 questions in this question paper. All questions are

(ii)
(i)
(iv)

(v)

(vi)

compulsory.

et o PRt 3ic 3% e siftea &)

Marks alloted to the questions are mentioned against them.

TP T Bl LAFYadD UG qen FHfud 3R afse|

Read each question carefully and answer to the point.

Y IR 1 Sgfabedd U3 81 59 9 & Jdd WUS & 7R A IR fasey &
T &l TR fadeu S ITRyRadn A fofae! wem v 2 9 5 a6 Ffded
IR 7 &

Question No.1 is multiple choice question. Four options are given in

answer of each part of this question. Write correct option in your

answer book. Question No. 2 to 5 are definite answer type questions.
U TRT 6 ¥ 10 T TAD BT IR THIEAT 30 T § SIS

Question No. 6 to 10 are to be answered in about 30 words each.
I TRET 11 | 17 db GAP BT IR T 80 Tl H &lfe|

Question No. 11 to 17 are to be answered in about 80 words each.

(vii) T TT 18 FAT 19 BT IoR TIHT 150 T=T | alfoTe|

Question No. 18 and 19 are to be answered in about 150 words each.

(viii) 2T T 20 B/ 3MenRa 724 8, 5wt 3R FéegaR dfsr |

(ix)

Question No. 20 is Case/Source based question, to be answered as
directed.

y2e ke 21 g # Himfeies Tl & g ae geie & Hattd /1
T g qo WRe & GT-HFREAT B IR GRad! H Herd diore|

Question No.- 21 is related to identification and locating of geographical
features on map. Attach the given outline maps of World and India
within your answer book.
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g faerT & srauRen HEfeRad # 3 fog figm St e= & 1

(i) 9. 3T o (i) &f. AEgE-3a-8P

(iii) T . A (iv) Yo

The concept of Human Development is introduced by which of the following
scholars? :

(i) Prof. Amartya Sen (ii) Dr. Mahabub-ul-Haq

(iii) Ellen C. Semple (iv) Ratzel

ot 3ot o < fopr 21 F RN By BT bt wietoT fosar T &7 1
(i) =9 (i) STHTD

(iii) WRd (iv) -TeReios

In which of the following countries, co-operative farmihg was successfully
tested?

(i) Russia (ii) Denmark

(iii) India (iv) Netherland

fopxr 291 W XTI & ST BT HUHTH Beicd UTT STIe &7 1
(i) e (ii) ST

(iii) HgeH T IR (iv) &

Which country has the highest density of Railway network?

(i) Brazil (ii) Canada

(iii) U.S.A. (iv) Russia

T 2011 DI SO & AR FfcRed # & g 59 # TR SHEET &
3RUTT Haiies &7 1
(i) aRETg (i) e

(i) ToRId - (iv) HERTY

According to the 2011 Census, which of the following states has the
highest proportion of urban population?

(i) Tamil Nadu (ii) Kerala

(iii) Gujarat (iv) Maharashtra

[2]
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(z) FrefeRad # @ 9 91 TR 96 de R 3aRed T8 82 : 1

(i) 3WRI (i) e
(i) ge- (iv) PICTdId
Which one of the following towns is not located on a river bank?
(i) Agra (ii) Bhopal
(iii) Patna (iv) Kolkata

(@) Frfafed & & 51t {6 yoR & e 82 1
(i) 3rorg HTed (i) STAIEBRUN HTE
(i) SagEres (iv) 3TIhIT FETEH
Which of the following type of resource is water?
(i) Abiotic resource (i) Non-renewable resource
(iii) Biotic resource (iv) Non-cyclic resource

(B) . Fr=faRea & 3 few 5o & v da &7 Rea 82 1
(i) o (i) foer
(iii)  TSTRIH (iv) aferTg
In which of the following State, the major oil fields are located?
(i) Assam - (i) Bihar
(iii) Rajasthan (iv) Tamil Nadu

(37) 2 T F ALY AR HEeTa & 1
(i) 3 <ICINdg IUR (i) ST&l TR
(iii) SR IR (iv) R TR
Trade between two countries is called as-
(i) Internal trade (i) External trade
(iii) International trade (iv) Local trade

411 (IIG) : [3] ; [P.T.O.



e o T -1 3 3T ) WUEl F, A B B SGUT (A) FAT BRI (R) F FY
¥ fafeea fosan man &1 FeafaRaa fawedt (i), (i), (i) T4 (iv) § | TR 961 9e

TR Aol

Direction :In next two parts of Question No. -1, there are two statements labelled

(31)

411 (IIG)

as Assertion (A) and Reason (R). From the following options (i), (ii), (iii)

and (iv), select their correct answer.

(i) ATUT RN TE € TAT R, A & TEI IAT B 2l

Both A and R are correct and R is the correct explanation of A.
(i) AT RN T & W= R, A B FEI IRAT &l Bl &

Both A and R are correct but R is not the correct explanation of A.

iii) A & & =g R e 7|

A is correct but R is incorrect.

(iv) AT R EH! Ted 2l

Both A and R are incorrect.

31RIHAA (A)
PRI (R)

Assertion (A):

Reason (R)
31f¥meM (A)
BRI (R)

Assertion (A):

Reason (R)

a] YNUT ¥ ¥aT¥T, @Ol 3 Bhe & TeEf-erd SR 8 2
37T 91 BT THE BROT a1 YGuOT B 1
Air pollution causes diseases related to breathing, skin
and lungs.

The main cause of acid rain is air pollution.

: TN TAT ¥ TR &Y 3R a1 3118 o= &l

gt § e, SRISHIRY g 37 & &4 81 = %

People migrate more from villages to cities.
There is poverty, unemployment and lack of income in

the villages.

[4]
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10.

19

12.

185

14.

HIa e, AT GTsT 3R eRTde & §ia el o1 Geafid sreasH 81 I e dat

&7

1

'Human geography is the synthetic study of relationship between human

societies and earth's surface." Who said this?

fova R T @1 qETed daEl R 87

Where is the headquarter of World Trade Organisation located?
HRd B TEell THYUT SIRIUMT e T g 1P

When was the first complete Census of India conducted?

MaT & dc R UG <= &7 9 §d18e|

Name the port situated on the coast of Goa.
A Qe & IR 9-&131 BT e0TE Ditore|
Mention the four sub-fields of human geography.

SRS B 3 37 FIT THET &2 3ATER0T SR W dHifoTe|

What do you understand by density of population? Clarify with example.

A1E Siia- FaT &7

What is Meaningful life?

WRa ¥ yrioT sRedt & T eRT & A s |
State the main types of rural settlements in India.
e 3 31 @ W BT

Explain the meaning of Hinterland.

gfg vd faer & 3=k ¥ difore|

Clarify the difference between growth and development.

YHETATRIT B BT g0 DIfoTe|

Describe the Mediterranean Agriculture.
TaTEe AN &l 4 faRIvan gamst|
State the main features of Foot Loose Industries.

YR ¥ SEEIT gcd PI THIGd B aTel FE SR S5

Give the main factors affecting population density in India.

411 (IIG) [S]
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16.

19

18.

9%

20.

e & TS IfcTRT BT 31T BHITST TAT YUY T Y1 b IR QI - 3

sHuel 4 Riftra 4 &1 afcera
BT el Tea | R Tl gReR
EIGNIG] 16.0 33.9 9.5 82.0

(i) 39 3UC Bl 19 SIS FTaT Gt Riars gl &1 30T PRUT W T BT
(i) 39 U BT 1 ST Fal Ga9 oY Riars ekl €1 SHDT PRUT W) WL DI

‘Study the table given below and answer the questions that follow-

Percentage of irrigated land in districts

District Tehri Garhwal Dehradun Chamoli Haridwar

Percentage 16.0 33.9 9.5 82:0

(i) Name the district where maximum irrigation occurs. Also give the reason
for this. :

(i) Name the district where irrigation is least. Also give the reason for this.

oty Tqyst uRasHr aar &7 Jussd| 3

What is the Golden Quadrilateral Project? Explain.

YRd H TR ORI FueH 3 5! THE T9aiil Bl 3 difom| 3

Mention major problems associated with urban waste disposal in India.

i FT &2 Geh! Pl BN PR dTel PRD! BT [JaxoT SIfSe| 5

What is tourism? Give details of the factors of tourist attractions.

fava =R & 376 gRag" &1 Tea TusEd| 5

Explain the importance of water transport in world trade.

i Iree @1 eamyda ufeu e 399 - fw e veet & o & -

Read the following passage carefully and answer the questions given below-

R § T T8 e a1 § I U a1 Tl eR & fory gd # Iy e= & 919 9
ST ST 1| I8 S1eR 31 AT 1958 BY TR g%, i U57d & &Reb ater & fiaperat & 3ik
RIS & IR TIe § UTfdeae ST & FHHR 40 Y. o1 3ilvrd oRY R vrafga g
2 39 R T B Hot T TaTs 9060 5.7, &1 9 wewerety & 7 TeR & fmfor
& RRRIRST v wmfsies ufkadT 981 doi & g3 81 S8 8 & 3l a-ieoT 3R
IRITE fadr SrihAl 3 Y &-+11 81 7% | Rifud & & fovar 9 de w0 e § gfi
g% 3R Bal &f FuHdT vd 3ces o §¢1 81 BiY 3 e # srcates gia o feamt o
T # gER 37 &

411 (IIG) [6]
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One of the largest canal systems in India is the Indira Gandhi canal, formerly
known as the Rajasthan canal. This canal, launched on 31 March 1958, originates
from Harike Dam in Punjab and flows at an average distance of 40 Km. parallel
to the Pakistan border in the Thar Desert of Rajasthan. The total planned length
of this canal system is 9060 Km. Due to the construction of canal in the dry
desert area, ecological and social changes have taken place very rapidly. The
land has become green due to afforestation and pasture development
programmes under the command area. With the expansion of irrigated area,
the sown area increased and the intensity and production of crops also increased.

The condition of farmers has improved due to huge increase in agriculture and

livestock.

() 3fexy Meh TR Fa R g$? _ L
When was Indira Gandhi canal launched?

(W) 39 6 DI PoT AT TS feba1 & oIl 39 e & S & Taiteid o 9 50
@ 3P 2
What is the total planned lenght of this canal and which state benefited the
most from the construction of this canal?

() =T MEN TER HHM 8T BT T THRIHD THIT UST? 2
What positive impact did Indira Gandhi canal command area have?

21, (@) ™ favg & TsHfae et amfaa 9 o9 92 (i), (i), (i), (iv) 9241 (v) & B9

H <@ T €1 A &1 1 GaeT & 3R UR 39 el ol UgdI~RI ol e | fafead
G R 36T Fet AW foifRae - 1x5=5
(i) TR H g B TG 81 SARH <
(i) <fooa =1 &1 wE siEfe &
(iif) 3T feraT BT HEeaqol THa! o
(iv) AYH 154 FHRDT BT T TR
(v) Yeicram Fafad aer

() Fr=ifchd & 9Rd & T T Iemide e aFfa # geifse o 39 R o 91 O
feriRae- 15¢5=15
() YRd & IHE I 3AEH 5T
(i) SR BT TaiId G- aTet 1Y
(iii) SeTSaT dlg 3RD @
(iv) SR et INeH PR
(v) e &l SR gars aa

(a) In the given political outline map of the world, five facts are shown by (i),
(i), (iii), (iv) and (v). Identify these facts with the help of information given

411 (IIG) [7] [P.T.O.



(b)

Note :
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below and write their correct names on the lines marked in the map -

(i) The largest wheat producing country in Europe

(i) Major industrial sector of Soviet Russia

(iii) Important sea port of Australia

(iv) Mega city of the United States

(v) Petroleum exporting country

Locate and label the following in the given political outline map of India and
write their names also- ' :
(i) Major Jute producing state of India

(i) State with highest population density

(iii) Bailadila Iron Ore Mine

(iv) Barauni Oil Refinery

(v) Southernmost international airport

fr=ferRaa wem Faa gfteds adenfial 3g wes 9o 21 & R_IF R &

The following question is for the blind candidates only in lieu of

question No. 21-

FrforRaa yeet & 3R Ao - 1x10=10
(i) TR ¥ T & 9 §8 3D <91 B A el

(i) AfITd TF ST TG 3D &7 Jarsel

(iif) SR ICTAT & HEyuT FHal To T M feriae |

(iv) B 15T MRS & 9 TR $T 94 feiiae|

(v) cfermh smRer & teiferan Frafas 2w o =m fafRae|

(vi) 9Rd & Y@ 3¢ e 5T Pl A FAe|

(vii) YRA ¥ ST 6T FaieId g-ad aTet X159 &1 A folRae|

(viii) SefSET g 3raRe @ fooa Isg # e &2

(ix) SR e ed HREHT i 15T # 87

(x) YRA BT TG afeol IR gaTs o dal g 82

Answer the following questions-

(i) Name the country which is the largest producer of wheat in Europe.
(ii) Name the main industrial sector of Soviet Russia.

(iii) Write the name of the important seaport of Australia.

(iv) Write the name of the mega city of United States of America.

(v) Write the name of the petroleum exporting country of South America.
(vi) Name the major jute producing state of India.

(vii) Name the State with the highest density of population in India.
(viii) In which state is Bailadila Iron Ore Mine situated?

(ix) In which state is Barauni Oil Refinery located?

(x) Where is India's Southern most international airport located?
: Xk XK XKk

[8]
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